If $f(x) = \sum_{k=0}^{\infty} \frac{(-1)^k x^{5k}}{5^k k!}$, $g(x) = x^2 f'(5x)$, then the series representation of g(x) is

A)
$$\sum_{k=1}^{\infty} \frac{(-1)^k k 5^{-k} x^{5k+1}}{k!}$$

B) $\sum_{k=1}^{\infty} \frac{(-1)^k 5^{4k} x^{5k+1}}{k!}$
C) $\sum_{k=1}^{\infty} \frac{(-1)^k k 5^{4k} x^{5k}}{k!!}$
D) $\sum_{k=1}^{\infty} \frac{(-1)^k k 5^{4k} x^{5k+1}}{k!}$

E)
$$\sum_{k=1}^{\infty} \frac{(-1)^k k 5^k x^{5k+1}}{k!}$$

Select one

2 B

ALC: NOT THE OWNER OF

$$\begin{aligned} f'(x) &= \sum_{k=0}^{\infty} \frac{(-1)^k (5k) (x)^{5k-1}}{5^k k!} \\ f'(5x) &= \sum_{k=1}^{\infty} \frac{(-1)^k (5k) (5x)^{5k-1}}{5^k k!} = \sum_{k=1}^{\infty} \frac{(-1)^k k \, 5^{5k} \, x^{5k-1}}{5^k k!} \\ g(x) &= x^2 f'(5x) = \sum_{k=1}^{\infty} \frac{(-1)^k k \, 5^{5k} \, x^{5k+1}}{5^k k!} \to g(x) = \sum_{k=1}^{\infty} \frac{(-1)^k k \, 5^{4k} \, x^{5k+1}}{k!} \\ \\ \hline \text{Answer is D} \end{aligned}$$

The appropriate trigonometric substitution that solves the integral $\int \sqrt{x^2 - 4x + 13} dx$ is:

A)
$$x = 2 + 3 \sec \theta$$

B) $x = -2 + 3 \tan \theta$
C) $x = 2 + 3 \sin \theta$
D) $x = -2 + 3 \sin \theta$
E) $x = 2 + 3 \tan \theta$

Select one

O A

OB

OC

0 D

● E

and a second sec

$$\sqrt{x^2 - 4x + 13} = \sqrt{(x - 2)^2 + 9}$$

الجواب يجب أن يتخلص من الجذر
 $x = 2 + 3 \tan \theta \rightarrow \sqrt{(2 + 3 \tan \theta - 2)^2 + 9} = \sqrt{9 \tan^2 \theta + 9} = 3 \sec \theta$
Answer is E



$$\lim_{n \to \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \to \infty} \frac{4^{n+1}}{(n+1) 5^{n+2}} * \frac{(n) 5^{n+1}}{4^n} = \lim_{n \to \infty} \frac{4}{5} * \frac{n}{n+1} = \frac{4}{5}$$
Answer is C

The interval of convergence the series $\sum_{n=0}^{\infty} \frac{7^{2n+5}x^{n+1}}{5^{3n+1}}$ is:



D) $\left(\frac{-125}{49}, \frac{125}{49}\right)$

E) $(-\infty,\infty)$

Select one:

• •

OE

Clear my choice

$$\begin{split} \sum_{n=0}^{\infty} \frac{7^{2n+5}x^{n+1}}{5^{3n+1}} &= \sum_{n=0}^{\infty} \frac{7^{2n} * 7^5 * x^{n+1}}{5^{3n} * 5^1} = \frac{7^5}{5} \sum_{n=0}^{\infty} \frac{49^n x^{n+1}}{125^n} \\ \text{Using ratio test:} \lim_{n \to \infty} \left| \frac{a_{n+1}}{a_n} \right| &= \lim_{n \to \infty} \left| \frac{49^{n+1}x^{n+2}}{125^{n+1}} * \frac{125^n}{49^n x^{n+1}} \right| = \left| \frac{49x}{125} \right| \\ \text{For the series to converge:} \left| \frac{49x}{125} \right| < 1 \longrightarrow \frac{-125}{49} < x < \frac{125}{49} \\ \text{Check endpoints:} \ x = \frac{-125}{49} \longrightarrow \frac{7^5}{5} \sum_{n=0}^{\infty} \frac{49^n (\frac{-125}{49})^{n+1}}{125^n}, \text{ the series diverges} \\ x = \frac{125}{49} \longrightarrow \frac{7^5}{5} \sum_{n=0}^{\infty} \frac{49^n (\frac{125}{49})^{n+1}}{125^n}, \text{ the series diverges} \end{split}$$

If $\sum_{n=0}^{\infty} a_n$, and $\sum_{n=0}^{\infty} b_n$ are two series with positive terms and $a_n \leq b_n$, then one of the following is true

A) If $\sum_{n=0}^{\infty} a_n$ converge, and $\lim_{n\to\infty} \frac{a_n}{b_n} = 7$ then $\sum_{n=0}^{\infty} b_n$ converge

B) If Σ_{n=0}[∞] a_n converge, and lim_{n→∞} a_n/b_n = 7 then Σ_{n=0}[∞] b_n diverge
C) If Σ_{n=0}[∞] a_n diverge, and lim_{n→∞} a_n/b_n = 1/7 then Σ_{n=0}[∞] b_n converge
D) If Σ_{n=0}[∞] a_n converge, then Σ_{n=0}[∞] b_n converge
E) If Σ_{n=0}[∞] b_n diverge, then Σ_{n=0}[∞] a_n diverge

* 0		
	N	
	13	

From LCT: Assume a_n is a convergent series and $a_n \leq b_n$

If $\lim_{n\to\infty} \frac{b_n}{a_n} = L \ (0 \le L < \infty) \Longrightarrow b_n$ is convergent Answer is A (By cylindrical shells) The integral that represents the volume of the solid obtained by rotating the region bounded by $y = \sqrt{x}$, y = 3 and x = 0 about y = 3 is:

A)
$$2\pi \int_0^3 (3+y)y^2 dy$$

B) $2\pi \int_0^3 (3-y)y dy$
C) $2\pi \int_0^3 (3-y)y^2 dy$
D) $2\pi \int_0^3 (y-3)y^2 dy$
E) $2\pi \int_0^3 y^3 dy$

Selectione:

- O.A.
- C 8.
- # C
- O D
- O'A ----
- Element choice



 $h = y^2$ (The black line, which is the distance from the y-axis)

 $V = 2\pi \int_0^3 y^2 (3-y) dy$ Answer is C

Which of the following series is converge:

A) $\sum_{n=1}^{\infty} \left(\frac{n+1}{n}\right)^n$

B) $\sum_{n=1}^{\infty} \left(\frac{3n^2 + n + 1}{2n^2 + n + 6} \right)^n$

C) $\sum_{n=1}^{\infty} \left(\frac{3n^3 + n + 1}{n^3 + n + 6} \right)^n$

D) $\sum_{n=1}^{\infty} \left(\frac{2n^2+3n+3}{5n^2+7n+3}\right)^n$

E) $\sum_{n=1}^{\infty} \left(\frac{n-3}{n}\right)^n$

Selectione:

A

OB

O C

· D

O.L.

Series B and C are divergent by root test

Series A: $\lim_{n \to \infty} a_n = \lim_{n \to \infty} \left(1 + \frac{1}{n} \right)^n = e^{/\!=} 0 \longrightarrow$ divergent by divergence test Series E: $\lim_{n \to \infty} a_n = \lim_{n \to \infty} \left(1 - \frac{3}{n} \right)^n = e^{-3} \neq 0 \longrightarrow$ divergent by divergence test Series D: $\lim_{n \to \infty} \sqrt[n]{|a_n|} = \lim_{n \to \infty} \frac{2n^2 + 3n + 3}{5n^2 + 7n + 3} = \frac{2}{5} < 1 \longrightarrow$ convergent Answer is D



$$\begin{aligned} r &= \sqrt{1^2 + (-\sqrt{3})^2} = 2 \\ \theta &= \arctan\left(\frac{-\sqrt{3}}{1}\right) = \frac{2\pi}{3} \text{ or } \frac{-\pi}{3} \\ \text{I} &= \frac{1}{3} + \frac{$$

Answer is C



$$\sum_{k=1}^{\infty} \frac{(-1)^k \pi^{2k+1}}{3^{2k+1}(2k)!} = \frac{\pi}{3} \sum_{k=1}^{\infty} \frac{(-1)^k \left(\frac{\pi}{3}\right)^{2k}}{(2k)!} = \frac{\pi}{3} \left(\sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{\pi}{3}\right)^{2k}}{(2k)!} - 1 \right)$$
$$= \frac{\pi}{3} \left(\cos \frac{\pi}{3} - 1 \right) = \frac{-\pi}{6}$$

Answer is E

Which of the following series is conditionally converge:

A)
$$\sum_{n=1}^{\infty} (-1)^n \frac{2n+1}{3n^2+3n+1}$$

B) $\sum_{n=1}^{\infty} (-1)^n \frac{2}{3n^2+3n+1}$
C) $\sum_{n=1}^{\infty} (-1)^n \frac{2n+1}{n^3+3n+1}$
D) $\sum_{n=1}^{\infty} (-1)^n \frac{5}{2^n+1}$
E) $\sum_{n=1}^{\infty} (-1)^n \frac{1}{2^n+1}$

Selectione:

- A ·
- OB
- QC
- 0.0

For series (A), us alternating test:

1) Prove that a_n is decreasing, you can use the first derivative 2) $\lim_{n \to \infty} |a_n| = \lim_{n \to \infty} \frac{2n+1}{3n^2+3n+1} = 0$ Since both conditions are true, the series is conditionally convergent For series (B), using LCT with $b_n = \frac{1}{n^2}$ it's absolutely convergent

For series (C), using LCT with $b_n = \frac{1}{n^2}$ it's absolutely convergent For series (D), using LCT with $b_n = \frac{1}{2^n}$ it's absolutely convergent For series (E), using LCT with $b_n = \frac{1}{2^n}$ it's absolutely convergent Answer is A



$$\sum_{n=2}^{\infty} \frac{1-5^{k-1}}{6^{k-1}} = \sum_{n=2}^{\infty} \frac{1}{6^{k-1}} - \sum_{n=2}^{\infty} \frac{5^{k-1}}{6^{k-1}} = 6 * \frac{1/36}{1-1/6} - \frac{6}{5} * \frac{25/36}{1-5/6} = \frac{-24}{5}$$
Answer is D

The integral that represents the volume of the solid obtained by rotating the region enclosed by y = 4x, y = 2x + 2, and y = 0 about x-axis is

A)
$$\int_{0}^{4} (\frac{y}{4} + 1) dy$$

B) $\int_{-1}^{0} (x + 2)^{2} dx + \int_{0}^{1} 16x^{2} dx$
C) $\int_{-1}^{1} (2x + 2)^{2} dx - \int_{-1}^{1} 16x^{2} dx$
D) $\int_{-1}^{1} (2x + 2)^{2} dx + \int_{0}^{1} (2 - 2x)^{2} dx$
E) $\int_{-1}^{0} (2x + 2)^{2} dx + \int_{0}^{1} (-12x^{2} + 8x + 4) dx$

Select one



Blue part:

$$V_1 = \pi \int_{-1}^0 (2x+2)^2 dx$$

Red part:

$$V_{2} = \pi \int_{0}^{1} [(2x+2)^{2} - (4x)^{2}] dx = \pi \int_{0}^{1} (-12x^{2} + 8x + 4) dx$$

$$V = V_{1} + V_{2} = \pi \int_{-1}^{0} (2x+2)^{2} dx + \pi \int_{0}^{1} (-12x^{2} + 8x + 4) dx$$
Item 1
Item 2
Item 3
Item 4
Item 4
Item 4
Item 5

Answer is E

$$\int (3x + 5)e^{3x+5} dx =$$
A) $\frac{1}{3}e^{3x+5}(3x + 4) + C$
B) $\frac{1}{3}e^{3x+5}(3x + 6) + C$
C) $\frac{1}{3}e^{3x-5}(3x + 6) + C$
D) $\frac{1}{3}e^{3x+5}(3x - 4) + C$
E) $\frac{1}{3}e^{3x-5}(3x + 4) + C$

Select one

- * A
- OB
- dir.
- Sec.
- 1000

Using integration by parts: u = 3x + 5 $dv = e^{3x+5}$

$$u = 3x + 5 \quad dv = e^{3x+5}$$

$$du = 3dx \quad v = \frac{1}{3}e^{3x+5}$$

$$\int udv = uv - \int duv$$

$$\int (3x+5)e^{3x+5} dx = \frac{1}{3}(3x+5)e^{3x+5} - \int e^{3x+5} dx = \frac{1}{3}(3x+4)e^{3x+5}$$

Answer is A

The power series representation of $f(x) = \frac{x}{x-5}$ is

$$\begin{array}{l} \mathbf{A} & -\sum_{k=0}^{\infty} \frac{x^{k}}{5^{k+1}} , \quad |x| < 5 \\ \mathbf{B} & \sum_{k=0}^{\infty} \frac{x^{k+1}}{5^{k+1}} , \quad |x| < 5 \\ \mathbf{C} & -\sum_{k=0}^{\infty} \frac{x^{k+3}}{5^{k}} , \quad |x| < 5 \\ \mathbf{D} & -\sum_{k=0}^{\infty} \frac{x^{k+4}}{5^{k+1}} , \quad |x| < 5 \\ \mathbf{E} & \sum_{k=0}^{\infty} (-1)^{k} \frac{x^{k+4}}{5^{k+1}} , \quad |x| < 5 \end{array}$$

Select one:

· 8

$$\frac{1}{1-x} = \sum_{k=0}^{\infty} x^k$$
$$\frac{1}{\frac{x}{5}-1} = -\sum_{k=0}^{\infty} \left(\frac{x}{5}\right)^k = \frac{5}{x-5}$$
$$f(x) = \frac{x}{x-5} = -\sum_{k=0}^{\infty} \frac{x^{k+1}}{5^{k+1}}$$
$$\boxed{\text{Answer is D}}$$

The curve $r = 2sin\theta - 6cos\theta$ represents A) Circle with center (-3, -1) and radius $\sqrt{10}$ B) Circle with center (3, -1) and radius $\sqrt{10}$ C) Circle with center (1, -3) and radius $\sqrt{10}$ **D)** Circle with center (-3.1) and radius $\sqrt{10}$ E) Circle with center (-3, 1) and radius 2

Select one.

- AC
- OB
- 130
-
- de la

Clear my chaice

 $\begin{aligned} r^2 &= 2r\sin\theta - 6r\cos\theta \\ x^2 + y^2 &= 2y - 6x \\ x^2 + 6x + y^2 - 2y &= 0 \\ x^2 + 6x + 9 + y^2 - 2y + 1 &= 10 \\ (x+3)^2 + (y-1)^2 &= 10 \\ \text{center is } (-3,1) \text{ and radius is } \sqrt{10} \\ \text{OR: } r &= 2a\cos\theta + 2b\sin\theta \rightarrow \text{center is } (a,b) \text{ and radius is } \sqrt{a^2 + b^2} \\ \hline \text{Answer is D} \end{aligned}$